

Tuesday, 27 July 2021

Investor Services

13 13 36

Investor Name

Marsh, Gregory Parks

Account Number 10900 0242 1709

TRANSACTION DETAIL

For: Managed Investment Funds

Distribution 30/06/2021 11:59:50 PM

Option	Gross (\$)	Fee (\$)	Net (\$)	Unit price (\$)	Units
Future Leaders	101.85	0.00	101.85	3.7447	27.1984
Total	101.85		101.85		

Subject to the terms and conditions and our privacy policy, Colonial First State takes reasonable steps to ensure that information about your accounts visible on this and other pages on the FirstNet site is accurate, but no liability is accepted for errors or omissions or for loss or damage suffered as a result of reliance on it.

Copyright © 2021 all rights reserved Colonial First State Investments Limited ABN 98 002 348 352, AFSL 232468.



Wednesday, 27 October 2021

Investor Services

13 13 36

Investor Name

Account Number 10900 0242 1709

TRANSACTION DETAIL

For: Managed Investment Funds

Distribution 23/09/2021 11:59:50 PM

Option	Gross (\$)	Fee (\$)	Net (\$)	Unit price (\$)	Units
Future Leaders	126.29	0.00	126.29	3.8844	32.5121
Total	126.29		126.29		

Subject to the terms and conditions and our privacy policy, Colonial First State takes reasonable steps to ensure that information about your accounts visible on this and other pages on the FirstNet site is accurate, but no liability is accepted for errors or omissions or for loss or damage suffered as a result of reliance on it.

Copyright © 2021 all rights reserved Colonial First State Investments Limited ABN 98 002 348 352, AFSL 232468.

1 of 1



Sunday, 14 November 2021

Investor Services

13 13 36

Investor Name

Account Number 10900 0242 1709

TRANSACTION DETAIL

For: Managed Investment Funds

Distribution 13/12/2020 11:59:50 PM

Option	Gross (\$)	Fee (\$)	Net (\$)	Unit price (\$)	Units
Future Leaders	92.21	0.00	92.21	3.6902	24.9878
Total	92.21		92.21		

Subject to the terms and conditions and our privacy policy, Colonial First State takes reasonable steps to ensure that information about your accounts visible on this and other pages on the FirstNet site is accurate, but no liability is accepted for errors or omissions or for loss or damage suffered as a result of reliance on it.

Copyright © 2021 all rights reserved Colonial First State Investments Limited ABN 98 002 348 352, AFSL 232468.

16/03/2022, 14:33 FirstNet



Wednesday, 16 March 2022

Investor Services

13 13 36

Investor Name

Account Number 10900 0242 1709

TRANSACTION DETAIL

For: Managed Investment Funds

Distribution 16/12/2021 11:59:50 PM

Option	Gross (\$)	Fee (\$)	Net (\$)	Unit price (\$)	Units
Future Leaders	1,554.41	0.00	1,554.41	3.6453	426.4148
Total	1,554.41		1,554.41		

Subject to the terms and conditions and our privacy policy, Colonial First State takes reasonable steps to ensure that information about your accounts visible on this and other pages on the FirstNet site is accurate, but no liability is accepted for errors or omissions or for loss or damage suffered as a result of reliance on it.

Copyright © 2022 all rights reserved Colonial First State Investments Limited ABN 98 002 348 352, AFSL 232468.



Tuesday, 3 May 2022

Investor Services

13 13 36

Investor Name

Account Number 10900 0242 1709

TRANSACTION DETAIL

For: Managed Investment Funds

Distribution 24/03/2022 11:59:50 PM

Option	Gross (\$)	Fee (\$)	Net (\$)	Unit price (\$)	Units
Future Leaders	1,929.65	0.00	1,929.65	3.3479	576.3762
Total	1,929.65		1,929.65		

Subject to the terms and conditions and our privacy policy, Colonial First State takes reasonable steps to ensure that information about your accounts visible on this and other pages on the FirstNet site is accurate, but no liability is accepted for errors or omissions or for loss or damage suffered as a result of reliance on it.

Copyright © 2022 all rights reserved Colonial First State Investments Limited ABN 98 002 348 352, AFSL 232468